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ECONOMICS
( General )

Paper : 5.'1
( Public Finance )

Full Marks : 56

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

GROUP—A

( Marks : 28)

1. Answer the following questions : 1x4=4

O] PR Ted fi

(a) Mention one character of public good.

I 9 961 IS Soad 94 |

1-21/652 - ( Turn Over )




(2)

(b) Write any one significant role of
public finance.

ey e R e b1 seey i B

(c) Define public debt.
531 ¥ R e o

(d) State one main objective of tax.

I 901 Y& S oo 3 |

2. Answer the following questions (each within
S50 words) : 2x3=6

R PPTRA Bed nal (AfSTh1 e o *7 o) -

(a) Point out any two roles of
progressive taxation in reducing income
inequalities.

R TSl 2P ¥R CFA0 FNIEAH 9
IRER R e o1 pi sngfemmi® faa |

(b) Give two reasons for an increase in the
public expenditure in recent times.

ArefeF TAES 5IIA1 TF Jwd 701 13T feay o

(c) State two objectives of government
budget.

BIFIA! ACHOS JOT SCr s Bray 41 |
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(3)

3. Answer any three of the following questions
(each within 250 words) : 6x3=18

T PR R e foRtr e i (aifeco
¢o =q fou) :

(a) Explain the relations of public finance
with Economics and Political Science.

i@ S AN (@ a5 53 [E@W]
I I A7

(p) What is taxable capacity? Distinguish
between absolute and relative taxable
capacity.

Fq M= AN 2 W TF SweeiFe I¥1
AR AN qere N Fefa a1 1

(c) Are indirect taxes progressive or
regressive? Give reasons.

CArF I TN 1 FRPNE ? I fran |

(d) Explain the three important tools of
fiscal policy.

IR NS R0 @wFesyd =z
¥ -

(¢ How can a budget be used as an
instrument of economic policy?

Teftafes NS W T ACHOS  (FCALD
R IR R ?
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(4) °

GROUPfB

( Marks: 28 )

4. Answer any four of the following questions
(each within 500 words) : 7x4=28

R Pl R @ skt v fan (aifec
¢oo *FJ foo39) :

(a) Comment on the Principle of Ability
to Pay. Which is the best index of
Ability to Pay? Explain.

399 AWS] AT So[{S TII F41 | I3 AL
G TJB 6T (FICHI ? AT T |

(p) Compare and contrast direct
and indirect taxation. Are they
complementary to each other?
Elaborate.

ASTF WEF OA® IFQ WS Tl AL
TRy 39 GBI} TR ARRE (2 Rz
TN A1

(0 What type of role should be played
by the public expenditure during
depression? Discuss.

T SREA ES 5P T T @ i
AT F41 oS ? HICABAT 341 |
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(S)

(d) “Internal public debts is of no
consequence to the community whereas
external public debt impoverishes the
community.” Comment.

“STemRAlY BIPIA W AR SRS (AT
FASR (A o, 78 IR 53R AW TS
wdel 3¢ 17 T2 4T |

(e) Explain the following :
©efe MR W F41 -

(i) Capital budget and revenue budget
T4 21T ACHE SF T KO

(ii) Fiscal deficit and revenue deficit

IECIIRW TG HEF &2 b

(f) Discuss the role of fiscal policy for
stabilization of price level and stimulate
economic growth.

AT Togd TeNRS A FoeRd e
TF IR CFAS AR ST ST weaw=n
LAl
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